- s FW FE FL
mias | H20E LR Ak LR kA MR RA oo EOR|RW AR A ER
Hrikim FLIR T E A B RE L3S AT Hik —F
FHERAKREL | EMEREAACEERE EEE s AL E R E S ALE R 1754 — Bt EE A AL EERE LR S
Bt | #H 161 2y 3{u 44z 5% 6fic 7fL 8L
#3287 |78108| 100m HEm oo w10.40 (+2. 7| g} wl0.53 (+2.7)| T Fath, wl0.60 (+2.7)| = F #H— B wl0.75 (+2.D|InfE B H] wl0.77 (+2.7)| BT 3 B OFIKER wl0.82 (+2.7)[ AT WA w10.83 (+2.7)
RN TR K JLiEE S AR PR K H L R HSZICT Hr e R AL S AR
7B108| 200m g E w21.20 (+2. DR T w21.41 (+2.D|BH &N w21.52 (+2.D|EME  Fnkk w21.64 (2. DA 53 w21.79 (+2.D)|5 & JNUR B w22.48 (+2. )| INjE &R w22.81 (+2.1)
Gt HL R FOERE FOERE HOF R A E BB K AR FLE R FLER
7A108| s00m |V E 49.34/NEF TR RER 49.41[FJE HhA 49.70| EAJ1 Mpth 49.78|E MW 7t 49.86
KL R JBJN R i 7 A ML FLIR R FLIR L3 A
78108!| s0om [ N7 1:56.49| 114 %7 1:56.62[ M {fHHkL 1:56.99|%5H Y AHR 1:57.49 [ fEE 1:58.15| KK 1h4s A 2:00.93
FLIRFBER T R G K LK FLISE P e 3 FEFRT N IPNE=T=R AR
7B108]| 110mH & K wi3.74 2. DA M Be— wi3.79 (F2. DI BE = wi4.07 (2. D|ARE 2 wl4.17 (2. D[P ER wl4.33 2. D|IA Fnask B &ah wl4.55 (+2.7)
BRBURY: P AT SEAEE R TR B E R TR K NASS
78108| 400mH RO ANE 51.06|FAf Kk 52.68| &g it 52.78|#x A &K 53.38| = 2 53.99| 4k At [y 5581
HFRERAT HL R H STREMES AT A HAKRS: ALL JEHEE B8 Rt AR FLIRR S
18108| mEe |F HE 5-50 kKM 5.50| i E5L 160[rk HHE 1.60
EPA=ETE IR FLIR P e FEFRT
JR10E| sEiEs FEAT PEIK w7.85 (+3.8)|3% 1L IEAKHES  w7.84 (+2.D)|JEL Stk w7.79 (+2.8)| FEF {H—ER w7.78 (+3.5)| R HETR w7.72 (+2.3)|Fe A K SR EZ wr.36 (+3.3)/hE FEE 7.24 (+1.7)
ErT7TE—Y B EACEE To7o—4% JUEET Tr7a—4% EERF I B AR5 R AC HEEAC
JR108| =mH W A wi16.18 (+2. D ILA et 16.01 GlL.O[RAIN K& 15.89 (+1.2)[ @A FEAHD wl5.36 (+2.6)| RHH EIT 15.15 +1.9)|k A 7
BLE KT I R 5 A AZICT &R HSZICT LI e ST
JR10E| By Bt BeE 82.54[4f I sE5L 81.81[7+—> LXK T4.83| BRI HLF 73.47|/N 8 HEA 63.76|HrE  mErx AR S 66.15| 5 58.87
ARFEIAC NGR|[A =¥ iARAC IR fRIERE BN HAZICT oK LR K
mmsmz [1810a| 100m | HT 11.43 CL3)/NL #24E 11.50 (-0.5)|miffs [t 11.54 (F0.5)[riA Pt 11.61 CL3)| LR with 11.66 -L.3)[HLil #EzIr Ao BeR 1190 C2 DA &R 12.00 (-2.1)
ST T e 17 T et FLIRFE brh B 15 e 1 FLISR 1 T INECHE 5 T 15 Rt FraR—> IRt
7A108| 3000m [N 9:05.114f k= K— 9:06.17| M KA 9:15.31|EtE B 9:19.90 (M AEaF 9:23.36|Hfety 1 NP P 9:33.28|V&H Rk 9:35.13
EALER Fa—> B Sl FR— e TE A et TE A et I b 7 e + 5Bt
TE A Bt 44.61 | §IE Hh 5 T b 44.75 |+ s keth 4487|225t 44.95| == [ Hh 5 Tt 45.91|AF—> 7 [t /A% A R 46.40 [FLIRRE 17h 48.49
iy R ASER g K ST TERL N WH HE HHEE X Fa[s fz v INEEREE EfE Fng
7H108|4x100mR|/|\ 1 24 FiA PR} B AR tR K#F 5 i (VS HH O FH% 7%
AR 2K BE M AR &3 i HEIR USEm BRI WEI S
(L PR W B K w5 J& FEK AT R A f5F ] ZE5—HR i EA
nesEz |78108] 100m L HRdAT 12.30 (+0.7)|=H HEH- 12.87 (-0.8)[fA = 13.35 (-0.8)[3&8A & 13.54 (-L.1)[85A w3} 13.63 (+0.7)| & H i B RfF 13.72 (+0.7)| THE = 13.92 (-1.1)
F— B NGR|3& Fi &l FLISEFE bh KLU R Nl T T 1 E +- Rt TE A [t
78108 1500m FH R 4:50.78[FTHF  AS—HR 4:54.07 [AF] R 4:54.10|/N8F IR 4:54.50(FTN B 4:57.31|F R HRAE Bl %3k 4:59.29| 407 KBS 5:02.71
TP e FLIR L EALER FaR— okt TE A et N T T i TEACE KLU
+ Rt 50.33| FLIERE % 52.86 | BT 1t 7 [l 53.58| A4 — I el 54.59| 5/ INECH A [ Hh 55. 17| &I Hh 5 et B AL RER 56.93 |38 /A &1 57.56
R EA WiR W HL%e TN i AR sk Al B et H [SEESN
TR 108 [4x100mR|7E/k 1% T HH ISl R) [CLEaE i TRE oM SN FAA HE KA
fEHE AR AlE PYer AR Hth FASE:IE = R RE R IIEIN M 2 AL BEsF
B —E AR EF Kk DN Fam Vepk & IR A& RS ‘B H FES
7B108| sk A KA 5138 —X 4.85[8aA B} 4.59|F] Atk 4.55|P61H & 4.46|E R &R HeE BRsh 4.12|E woA 3.95
TE A et +- 5B bh NPl s B 18 5 T FaR— ok, B 7 1 FLISR R th /IR S E T,
srLvoez|7gi0m| 200m [TV ER w22.61 (+3.8)
FLIE AR
78108| 110mH IngE B wld.15 (F2.3)| AR ZEF wld.24 (+2.3)|FIE EIR wl4.40 (+2.3)| A Fnak wl4.50 G2 ) EL EaL w14.68 (+2.3)
SRR R T [t FEREEIE T TR K NASS




s@x7 |78108| 100m itEL ik 11.96 (+1.1) ET#?‘E‘Z@ “ 12.07 (+1. D[R %ﬁi 12.18 (+1.1) /T/I‘q: affgﬁ_‘ ‘ 12.37 (+1.1)
JeHEIE AT 7 AC b2y s AL ER AR FAEE
78108| 400m ®a Zo3k 55.30|AE%E HE 57.56|888 WRE 58.04 |5 A HEHY 58.25| A FHE 59.31 1M\ T3k 59.53
HFRERT EETE KRR b= b= JBJ R F @Ak JB)N R F i
78108! 100mH I VAN w12.86 (+3.D|AKS S+ wl13.06 (+3. D)%k (25 wl13.42 3D RS A wl13.66 (+3.1)| bk FRHp wl4.06 3. D|EE Fx T wl4.18 (+3.1)
A [E] TT A HFRERAT TEFE R (FRFHRAT) SRR R FLIRFE B i 12
18108| Eims BK BHE wh.89 (+2.2)|HTH Zify 5.70 (+0.5)H s H3E 5.67 (+1.0)| P4 Wi 5.60 (+1.6)[izE i 551 CLOLWLA BHE 5.18 (:0.7)
WIS A 4 b2y EE K AR FEFRT AL A% E iR
JR10E| By br HIE 60.84| &= T b 55.88|MEE IR A A 54.29|% F Bixd 49.04 1A L2k 43.815E)11 3EA 43.32|'= Iy &= A 38.53
H AR NGR| KAKT. C ARFEIRAC o1 AR JEHEE 08 R AR FPY R R AR
mxz 78108 100m A RS 12.60 (-0.6)[ 7> oA 12.73 (-0.6)|FidE 4% 12.95 (-1.8)[ 5% Bt 13.07 (-0.6)| 5 FF Lot 13.13 (-0.6)[/Mk 2E3E 13.27 (-0.6)[fRM vWvA  13.51 (-0.6)|HyEsk 2 13.57 (-1.8)
TE P ST 7 et FLISRFE ) FLIERE + skt B 7 1 F—Y Ikt TE P
JR108]| 3000m & E 10:24.08|/)%5  FiT- 10:25.28[F A ACHE 10:27.01 e~ A Z53% 10:29.48| M 12 10:34.03|#i% K& 10:44.79(45H EiE 10:46.29| L ZH 10:47.20
FR— I FLIE R, TER R TE A [t R o=y R =751 7E i [t + s Reth
bRl 48.68| FLIR 17 49.04 |22 0t 49.28 |3E FE [T 49. 31| S Hb 7 17 50.91 |- k&l 51.37|Ad— 7t 51.94| == 18 Hh 5 1, 55.85
I KH%E BB A B A Wbk 2 KEF Bkt R MR Kk XA M R
TH108 | 4x100mRIJNjE BB E TZWR ok A RE E BEAR SEC N AR O RE WoA T4 AN
RN TR HiAR g0 B AE Il AL B B wmH T BRI B0 il RS
AR <HH feiE % Pl BT THE 2y N3 HAR #ix At Gl 5% 1648
nxz (78108 100m ek ERE 13.64 (-0.3)[H#H =S 13.87 +1.2)|FE 955 14.02 (-0.3)[ R FR#E 14.04 F1.2)[¥5 A &0 14.06 +1.2)[1hm 4T3y 14.13 CO.3)|F)l ZE 14.14 (-0.3) e 2 A &k 14.17 (+1.2)
TE P /N T TR S b 5 T th 7e St FR— I KLU R KLU R TE P
JB108| soom ) 2:28.58|18H IHE 2:28.62| EVE AR 2:28.78|5H 1 2:29.41|/8AK £ 2:29.43\ A BIT3E 2:30.85|/. ATy 2:32.95|5% kR 2:33.85
/% T R b FLIR R ) FLIRFE brh SE T 7 Bt N 5 A TERE R HIE T 7 217, EALER
R =375 54.47|3E FEE 54.90 | KL 55.19|+ ¥kt 55.62| AR — 7, 55.70| &I #& Hh 7 el 55.71 |8 JepEH 55.92|Z2 ZnfEt 55.94
HH S w3z AL H3E A FEZE NS PR HLE N KRR e
TR108 [4x100mR| 4 AL KE TTHRF FE)ll K Fa[ER A Bt =AU M Obb /NHOZER IR BB
iy MEZR Per R R e i R Fx BA &M KEF Bk & FXT Sl #ifk
B FERAL ek ERE P R R AL g &5 ThE ik fEE & &
JR108| EiEm AR B 4.81|EHE %A 4.39|HK HE 4.35|m)II H3E 4318 L 4.28|FAH i 4.27/hm 1A 4.21| kg Zsx 4.19
ZEHE NGR| 22 i 17 e, TE A [t FLIERE /% A R b HIHE T T S + 5Bt
Css Azl vk wl1.84 (+3.0)| BT Eif w11.97 (+3.0)|FF  ## w12.01 (+3.0)
FrLIEF TR0 100m 7 aC Jesharsyhig A
7B108| 100mH LIV w12.91 (+H.)|AFT TT wi3.12 (+4.3)| -4 1 wl13.39 (+4.3)|#k i wl3.93 (+4.3)| EfE ¥4 F w14.23 (+4.3)
] TT A HFRERAT AR R FLIRFE R i 152

w (wind assist) : IBJEAE#%




